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#SRI VENKATESWARA VIDHYA MANDHIR HR SEC SCHOOL

THALIKKOTTAI
SUB : MATHEMATICS MARKS : 90 .
CLASS : XII REVISION TEST -1 TIME : 3.00hrs
I.  Choose the best answer [20x1=20]
20 s % € 4. e . ; iable , then the value of a is
1 ()= { 0 otherwize S @Probability density function of a randem variable
a) 1 b)2-: c)3 d) 4
2. The symbol — is not changed while finding the
a) dual b) Truth c) Similarity d) consistency

3. The prepositionpa(—pvg)is

a) atautclogy b)acontradiction c) logically equivalent to p aq  d) logically equivalent to p v g
4. The solution of% +pl)y=0is

a) y=celP&  pyo ge1 fpix c)x=ce”1fpdy d)x=Ce [ pdy
5. [fthe solution of the differential equation —Z—% = 2‘1::; represent a circle , then the value of als
€) 2 b) -2 c1 d)-1

6. The valuecf
1

[ st ? s
i

n?

: wt w e
a) = | b)T—E C}T+2 d}1—+1
7. Thevalue of
m
zZ
[ sin? cosx dx is
4
i 3 1 2
a) =t b)E_’ . c)0 ﬂd]; 7
Vics xy” £o S o m
8. Kw(x,y) -Iog(ﬂ_}, ),thenthe valuenfxax+yxay !
a) 1 b)—-1 c) 2 dy3 e,
9. lfw(x,y):x‘,x:»Otheng—:fsequalto :
a}) x'logx b)yx¥? cly log x d) x logy
10, The maximum value of the function }¢ e , x>0 is

=
(48]
3k 1 5E 4
) Eae o) oo B diz C>U
11. 'f Als non'singular matrix of odd order ,then s pasitive
a) adjA b) | adj A | A d) |1A7] (@)
12. IFATA-* is symmetric’, then A2 =
) AT b () ) AT d) (A1 (40)
13. (1 +i)8 - p =
a) 512 m

h) 215 i

¢)512



16. The circlg x* +y = 4x + 8y + 5intersects the line 3x— 4y = m at two distinct points if

a) 152m 265 b)35.m £85 )-852sm~z-35 d)-352m<£15
17.1f @ and b areunitvectorssuchithat (@ .6 . @ X b ]:E,then the angle between @ and b is
a) £ B2 A S
6 4 13 F]

18. JfE‘, T T are three vectors , then [T+ T, @+ b , T+ b +7 1=

)V [@ 5 T b-@. 5.7l ol . @ b] 0@, @b ]

19 I z is non zero comglox number, such that 2 a’-Tt hen|z|is

a) % b)1 o2 d)3
20. Iff}il— is purely imaginary then | 7 | is
2 < b) 1 c)2 d)3 -
PART-B
[7x2=14]

Answer any seven questions only question no 30 is compulsory
21. Define Binomial distribution
22. Establish the equivalence property :p=>q=-pve

23. Evaluate
Fid

f x? cosnx dx

0
24, Evaluate the limit

(sin my ‘)

lim
=0 X ’
25, Hwix,y,2)=x'y+y*z+22x find dw
20. Ifz=5=2iandw=- 11 2ifindz—-iw

27, Write cosine formula .
28. The parahalic communication antenna has a focus at 2m distanca from the vertex of the anterha. Find the

v./idth of the antenna 3 m from the vertex
29. Show that the equation 247~ 6x +7 =0 cannot be sztisfied be any red values of x

30. IfA= [g 5 ] be such that A== A, Find the value of .
PART-C
Answer any severfquestions Question No 40 is compulsory

31. rfA=[_63 ;] Find adj A.

1 =AY fie
32. Show that cot - 'Lv"i'_) sec M | x [
33. Prove by vector methed that the median to the base of an isosceles triangle is perpendicular to the base.
1+cosaﬁ+is£nzﬁ)39

34, Simply (3 e

[7x3=21

35. Find the general equation cl a circle with centre (-3, -4) and radius 3 units
36. Use the linear approximation to find approximate values of Y26

37. Evaluate
o0 i

e P xtdx,a>0




4 PART - D
Answer all questions [7X5=35]

= aie ] i
41. a) IfU—Slﬂl(-&_f%ﬁ—_)showthatxg—x+ yz—:=%tanu

b)F‘l.nd the volume of the salid formed by revalving the region bounded by the parabolay =x°, x axis
ordinates x = 0 and x = 1 about the x - axis

42. a)A random variable x has the following probability mass function
X 11 2 E 4 5
F(®) | K2 2k Es 2k 3k -

find (i) the value of k (il pl2<x<5) (il)p(x=2)
b) FEvaluate:
1
lim x1-=
x =1

X x
4?.a)50ive(1+2€r]dx+285(1—£)dy=l} [07]
1 17

b)A radioactive isatope has an initial mass 200 mg which two years later is 50 mg. Find the expression for the
amount of the isotcpe,remaining at my time what is its half life?

44, a) If Zcosa = x+£~ and 2 cos 8 =y+%, showthat%+%=2cos(a—[3 j [OR]
b)Solve (x-2) (x=7)(x=3)(x+2)+19=0

45. a)lfcos~! x +cos™! y+cos~tz=mand0<x,y,2<1show thatx®+y"+ 22 +2xyz=1 [OR]
bIFind the centre | foci, and eccentrizity of the hyperbola 11x° — 25 yi—44x+50y=256 =0

46. a) Using vector method cosla —f ) = cos a cos ff +sine sin f§ [OR]

bjSolve 3x+3y —z=11 , 2x—y +2z=9,4x ! 3y +22=23 (using Gramer’s rule )

47. a) Find the equation of the ellipse whose eccentricity is 1, ane of the fociis (2,3 ) and a directrixis x =7 .
Also find the length of the major and minor axes of the ellipse _a [OR]
b)Find the vector and Cartesian equation of the plane passing through the point with position vector
20+ 67 + 3k and normal to the vector T+ )" + k
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